SM7HE 1 A1 HBE (o Ad : HRADA)

KM 4 TR [ |5 (A) | i (& (B) | 8 | EF(A+B) | 3R
T 2, 496 3 2,770 3 2, 837 -2 5,607 1

T —TH 986 1 906 1 789 1 1, 695 2
PR — T H 580 6 539 1 554 1 1,093 2
e =T H 635 4 686 2 641 2 1,327 4
JHTHTY T H 477 0 493 0 514 1 1,007 1
4R T H 334 -1 353 -1 324 0 677 -1
JHPTHT ST H 308 0 369 0 382 2 751 2
Lo HT 204 -2 200 -1 208 -1 408 -2

=a 382 1 441 0 450 1 891 1

T H 1, 899 -3 1,957 -5 2,019 -2 3,976 -7
PIHTHT 333 0 333 0 318 3 651 3

Hh T H 925 -1 987 -5 948 —4 1,935 -9
HT—TH 284 -1 346 0 394 0 740 0
R T H 332 3 407 —4 424 0 831 —4
HHT =T H 484 5 640 -2 630 3 1,270 1
BT B 292 -/ 395 -3 386 -3 781 -6
A 234 1 260 1 250 1 510 2

] = 290 0 343 -1 326 0 669 -1

— K 442 -2 448 0 451 -3 899 -3

— YV AREH—TH 0 0 0 0 0 0 0 0
=YAREMTTH 32 0 43 0 43 0 86 0
GIEL 109 0 122 0 117 0 239 0

— Y KHH 5 0 5 0 5 0 10 0
NH 4 678 -2 844 —4 852 0 1, 696 —4
R4 4, 552 2 4,769 3 4,988 2 9, 757 5

IR 4, 662 -6 4, 440 -5 4, 502 -10 8, 942 -15

E A 1,428 9 1, 509 10 1,536 -2 3, 045 8

=5 H 5 0 7 0 6 0 13 0
EtR—TH 897 -2 750 -2 903 1 1,653 -1
=LA _TH 1,103 -4 1, 040 -6 1,119 -3 2,159 -9
BH5+HR=TH 843 -1 753 -3 823 -1 1,576 —4
= LRIUTH 698 -2 678 -5 701 1 1, 379 -4
ELtRATH 703 0 734 -1 653 -4 1,387 -5
& LR TH 0 0 0 0 0 0 0 0
T 4 T 1, 867 -2 1,863 —/ 1,771 -1 3, 634 -5

sy Fe—T1H 278 1 286 2 292 -1 578 1
iy e T H 240 0 249 0 244 1 493 1
iy =T H 435 1 427 2 444 -1 871 1
ks VU T H 684 3 647 4 707 1 1,354 5
iy B T H 417 0 469 —/ 488 0 957 —4
mEiT—TH 252 0 292 0 324 0 616 0
FAET — T H 570 -4 553 -5 606 -2 1, 159 —7
PRI =T H 191 0 180 0 231 0 411 0
=t 32, 566 3 33, 533 -32 34, 200 -19 67, 733 -51




